JAKP 110 TEME " PASHOCTb KBAJIPATOB"

A) YIpoCTHTh BBIpaKEHHE

BbInoOaIHUTH YMHOMKEHHE:
11D a-ad+a)y 2) (b+2)(b-2) 3
"I 3) (m - n)(m + n); 4) (x + y)(x - y) Gamia
5) (3a + 2b)(2b — 3a); 6) (8b — 5a)(5a + 3b).
2 | 1) (7 + x)(x — T); 2) (5 - m)(m + 5); 3
3) (a - 4)(4 + a); 4) (8 + x)(x — 3). Oaia
ol gled) o (o) 4
: 2 3 2 3 Oasa
o (Lo-1s)(Laeds)s ¥ (gm+in)(5m-5n)
. 1) (%m 25n)(%m+2,5n]; 3) (0,5q+§p2)(§p2—0,5q] 5
2) ( ,5c+1§d)(1 5c—1§d); 4) (0 3al - %n\J(;n+0,3a3) Ganon
5 I BLIunCINTE: 5
| 1) 78-82; 2) 47-53; 3) 1,7-2,3; 4) 2,8 - 3,2. | bamnos
b) Pa3noxuth Ha MHOKHUTEIIH
1) ¢2-9; 2) d? - 16; 3) 49 — m?; 4
6.1 4) 25 — n2; 5) 4c? - 9; 6) 9d%2 - 16; | suum
7) 49m?2 — n?; 8) 25n2 — mé.
1) 1 - a%?; 2) xtyt - 1; 5
7.1 3) x%y* - 16; 4) a’y* - 25; 0aJuIoB
5) a%-9; 6) 100 — bS;
7) 4a% — 9a2b2 8) 16x2y2 — 9bS.
BoluncauTs:
. 1) 692 — 592 2) 882 - 782%; 5
) 2)? 1 2. 5)° 4)? 0aiIoB
o (23] (i3] o (5] - (2a)"
1) (2d - 1) - 36; 2) (x-y)2- 6
9. 3) (4p — 3q)? - 36p%; 4) (2m - 3”)2 - 100n2 0annos
5) (2a — 1)? - (2a + 1)%; 6) (2a + b)2 — (2b + a)?.
[Tpumensst GopMyIly COKpAIIECHHOTO YMHOXEHHS,
YIIPOCTHUTH BBIPAKEHHE
10 1) (a — x)(a + x)(a? + x?); 7
2) (x+ 1)(x—1)(x%+ 1); OayoB
3) (a+(BbB+c)(a—(b+0);
4) (2-(x+y)(2 + (x +y))-




